B AEN L SONY A>T 2I[E2] 2312 MA] <1E 2023.3.17>
JO|EHO| A =2 £ 0| Al
-l = al
S2AEQ ALMF S SAI_LTEAMA
X FZ Y S o Adal A7 HHELIC.
. = (H1%)
% [10l= sl gel= 20l &S FLC
1. 7| 2AE
AtRAA (M| 2 2023H01& 01 ~ 202312831 W] ™T|ZA| [ ] slaZA|
IANEZHS
OIUHOUS & | Aletgel HFcta =0 ®”JE,_?$° %)_2 578-82-002+
@CHEA} ehrxx @MY 20191104229
GO HFEHXIR T HFA SE42 54-5 ®XSHS /THA 064-805-0043 /
@E.|0| 7] & www.jejudarktours.org ORPI ISR A jejudarktours@gmail.com
EX=nY HZ= =9 Xpx| £4.3%| 2 2} 07122 8 [ 1587182 W1de7I18= [ 1718t
P S
QEHY [ JA kol [VIAbet ol [ JloR RE o [ 133712 [ 1718
@aoAed e
@EEFA NIZHQ! [ 17194 [ 12H9l-714 [ J=F [ JXIRbxIetA [ )71t
®O| At 59 [ Z AL} Q1019 4 100 o
@ 28aAL =
2. Xk 3l Bl 5 g (che]: ¢)
= ZFARA = Al O =]
N A eex wag | LHE |e3sne| ool | O
= T
@ 24 (a=0+0©) 115,502,024 0 0 o| 105502024 10,000,000 | 799,875
=2 115,502,024 0 0 0 105,502,024 10,000,000 799,875
® 3UBHAY
© 7|EIAHE 0 0 0 0 0 0 0
3. solpig (Et91: &)
WA o= 3
o e = LR e
= oA | @RS | @RZ23 |0dHey | @7E b 6] o
@ A (@=0b+0©) 81,096,266 | 79,125,669 50,118,205 0 28,489,526 517,938 1,970,597 0
bad=ZHAIA 81,096,266 | 79,125,669 50,118,205 0 28,489,526 517,938 1,970,597 0
©7|EtATY 0 0 0 0 0
4, 4| 8% (hel: )
| WAEHIE lM%*S&I @rg%éﬁ*
= NEY:! GIAY EryeIl-ly @R2 HE2 & [AIAZH|=
(L [=) A 2 (=] = = [m=] 7 E o O [= L o
BEA | setvig | welvig | sig B TS | Ay
@ 24 (@=0+0) 101,287,618 [ 101,287,618 7,210,965 94,076,653 0 0 0 0
OEUSHALY 101,287,618 | 101,287,618 7,210,965 94,076,653 0 0 0
© 7|EfATY 0 0 0 0 0
5. Erolgt
2012 & ZAM9} ZAMO| HEE BN Y BIMSS ZESIA20, Y EEE JAS T A4 sl 2SS &
QIgiLCt.
HERE: M F sjololx} : 202414048 252!
P Al 2 Z0iMIE) M50 I3MI 18t - F4gt 2 22 ¥ AlslE H43zol30] e} ZolelSel
UMF S BAIFLIC

2024 4 04 & 25 &

oo

AtErEiol M Fota R of

210mmXx297mm [84 A+ X| 80g/m* EE= EZ!X| 80g/m* ]



(M5%)

6. 2UAZH ALY M Ee

OE ol ZIME 2 SHAIY H¥

1. M3 432 GAF2EH sy 73 R

2. M F 4 -3 REX| S HF4-32 2Ilsts SHE AIE VM 2 Ws, 82 &5
3.HF 433 AAHE UL 2 =AY S5

4. ®M=F 43 7K e SR EEZ 2T 2H UE AN

5. XM= 4.3 2t Fue Rt s A

6. 7|Et O] CtHlo| =SS =lsIT| |5 At

@A B (SEHM A 7tS)

[ ][22 =(221100) [ [AZX(2=1200) [ |7|Ef 2l 32[ofo|d & SAF 2&(Z=1300)

[]=5 ¢ %% WE(ZE2100) [ ] DSWK(ZE2200) [V]7|EMRF(Z=2300) [ 5t& 7 (2 =2400)

[ 1282 =2500) [ ] /7O (2 =2600)

[ J83 & AL (ZE3100) [ |22 (ZE3200) [ ]™4 42 2 717 (2 =3300) [ 17|16 EAME|A(ZE
3400)

[ 1A= =x1(=E4100) [ 21 S48 2 F9(2E4200) [ J25 X8 2 2 2(2=4300)

REIEES oo) [ 152 (2=5200)
=61

0
Eal
Rl
ﬂ

X|AALE|7H e (ZE6100) [ 1F4(2E6200) [ |18 ¥ =& (_—T'_ 6300)
) ]

= 1]
EL 9§JX1I(§I_E71OO [ JHE ¥ HEMH|A(ZE7200)
X = =

L [ 1d
HeH==8100) [ ]2AMSZEI(ZE=8200) [ 122 &=(2=8300)

|LABHEE11100) [ 1M E27I8HEE=11200) [ =S =8(2=11300)

W25 shE [ Jots [ 18aE [ 1ol [ J&ofel [ ]d=el(ct2sh) [ 1745 oy
[ J2EHS [ ]7]Et

@=4 =2 AIEXIS
WIE=[IMe[]1Fd ] [ ™ [ 1= [T [ 12t [ [Z23 ]

17d [17% )8 )85 8 185 A3 UNF 2 8

® =9 72 AR

— = H= =2 1

1 e 2300 AR 7| AFRI43HH|2 3,124,549
- A AIFEA 30 E Y= o EE 13

AEdE NERE 23
- A 01 00l 2 =010) Sh= 7|5 T2 34 Jydt

2 D= 2300 A WA At EHH|E 1,173,916
A A 30T SR TRl 0R R N Y

ATHLHE AP A eSS
oM, 2 S CHst OfAS S5t WS T = e 215K

3 = 2300 AR 7= A At lH| 2 2,912,500
XSS HA O TS SO S A B W S T

YU ' | R o

- O|20i| A| 74 3 2434 CFot 7| ZALR] RISt




71 9 AtY

oF N o= ol
i i om
© oo M
o o2 u-
o - ol
et o o
~ o W =
- T B O3
™~ o= T K
X T
__dw____u_m_wlo
u
i
ul - =
LZRog
0 K = =
Tm P e R
__o_EE_-ou
MW ogoofg M
REour g
H = o
o =S ke
ulo N o =
_O_Ewmg
I L)
= N A
wu_/l %»_v_u._.__._)ﬂ
oD __|oo ok = mﬂﬁ ol
0do oo = <
o) oo Mo
== Malrlmn_AT
o I
<k o- 3 R oob fr
&l Mu I ol w_ T -
< | (30 of oy X0
=1 [Z0 o ]
~ - |V___.___||_.._OHH
I o g — &
m NH__”T_O__Al
T fw g
m_.WA._ﬂmr
or 3 op W <
-
M Jfo oorodo
MoOMEFﬂlMoT
o o <
mo__o:m..,AlE
or Bl K
_.__OATE,MAE
ol MW
- Imox b & U
& or < wy - o
< s H & H
Rr o_____owwmm
o E_m_wmm:__
5 w3 9 .
mﬁ w oo Sl
Hao gl
T = oMK
IR TR
AT
-r O oY —~ -
ThTw My
4®@MWU__H__@
— o @ 9K
< ﬁ._oLl.rr.thw_uLu.
ol ¢ ™ 7 FaaH

tof =

}

x| 80g/m’]

I

PN
=

=
[y

CcC

ol

o

20|

S

FX| 80g/m

o

210mm X 297mm[ 24 A

L ct.

b

=]

S

fof

o

&, AHEXIY) g MEUCh ZE= "@OAEH
12 370 AL
EH 2F LX|

=

S S

oto
S

L

=2

g, AU
Z0|

g

Uk,
o}, ®ztel Al

=3

A
=



